13000 GeV pp

Rivet 3.1.10, = 3M events

T — ' L L L R R L L S L LA LA R B =
8&,1\ - | o | | | ~
= 3 Relative jet massp (ATLAS soft-drop observables) ]
% - ]
S. [ m ATLAS ~
= 25— —A— Pythia 6.428 370 —
= — Pythia 6.428 default —
2 | —&— Pythia 8.308 default _
£ 2[ =
St N
@ — —
9 - |
- 15 —
b - |
© - _
SRl E
7 _ _
2 o i
\r_l/ - _|
0.5 ]
0 =
-0.5— —]
L | | Ly | | | | | | | | | | | | | | L,
: T T | T T T T | T T T T | T T T T | T T :
2 &= =
" — | ) ' =
< — —
| - ]
l_
< T i /“Ci\(\ | :
O 4 [
o | W A
§ - 1
I &\‘ ( x —
0.5 — _
1 I 1 " 1 i | " 1

2
g, l(m

-1
soft drop, ungroomed 2
IpS" Y]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


